D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Rame:
Time: Score: y—
391 16631 = 6 = 106) 17683 = 2 =
3920 1044 = 3 = 107 24175 + 6 =
393) 45547 =— 5 = 108) 23721 -6 =
219 76119 =+ 10 = 09 5293 + 1=
305) 25869 +— 3 = 10 63935 + 9 =
306 31460 + 5 = ay - 20828 +4 =
307 60393 + 7 = 12 70637 = 10 =
395) 4596 = 1 = 413) 16885 + 3 =
399 18874 = 4 = 414 17897 = 3 =
100) 27745 + 10 = a5 36059 + 7 =
01 11588 + 6 = 166905 + 2 =
102) 17792 = 9 = un 27479 = 7 =
103) 23380 = 4 = 418) 23553 =6 =
01 32968 =4 = 19 8064 + 2 =
105) HH67 +~ 1 = 1200 36690 = 7 =
Mathematics: Division - Level § - Horizontal - Set 4 15 culu


https://www.workulum.com

